

פתרון תרגיל 4

פתרון שאלה 1

$$Y = X\beta + u$$

$E(u) = 0$ $V(u) = \sigma^2 I$ $E(X'u) = 0$

1. $X'X = \begin{pmatrix} 5 & 15 & 25 \\ 15 & 55 & 81 \\ 25 & 81 & 129 \end{pmatrix}$.7

2. $x'x = \begin{pmatrix} 10 & 6 \\ 6 & 4 \end{pmatrix}$

3. $X'Y = \begin{pmatrix} 20 \\ 76 \\ 109 \end{pmatrix}$

4. $x'y = \begin{pmatrix} 16 \\ 9 \end{pmatrix}$

5. $Y'Y = 108$

6. $y'y = 28$

7. $(X'X)^{-1} = \begin{pmatrix} 26.7 & 4.5 & -8 \\ 4.5 & 1 & -1.5 \\ -8 & -1.5 & 2.5 \end{pmatrix}$

8. $(x'x)^{-1} = \begin{pmatrix} 1 & -1.5 \\ -1.5 & 2.5 \end{pmatrix}$

9. $i'X = (5 \quad 15 \quad 25)$

10. $i'x = (0 \quad 0)$

$$b = (X'X)^{-1} X'Y = \begin{pmatrix} 4 \\ 2.5 \\ -1.5 \end{pmatrix} \quad .2$$

$$(X'X)b = \begin{pmatrix} 20 \\ 76 \\ 109 \end{pmatrix} \quad X'Y = \begin{pmatrix} 20 \\ 76 \\ 109 \end{pmatrix} \quad .3$$

$$(X'X)b = \begin{pmatrix} 16 \\ 9 \end{pmatrix} \quad X'Y = \begin{pmatrix} 16 \\ 9 \end{pmatrix} \quad .2$$

Y	X ₂	X ₃	$\hat{Y} = 4 + 2.5X_2 - 1.5X_3$	e	e ²	.1
3	3	5	4	-1	1	
1	1	4	0.5	0.5	0.25	
8	5	6	7.5	0.5	0.25	
3	2	4	3	0	0	
5	4	6	5	0	0	
				0	1.5	

$$\sum e = 0 \quad \sum e^2 = 1.5 \quad S^2 = \frac{1.5}{5-3} = 0.75 \quad .3$$

$$e'e = 1.5 \quad Y'Y = 28 \quad b'X'Y = (2.5 \ -1.5) \begin{pmatrix} 16 \\ 9 \end{pmatrix} = 26.5 \quad .7$$

$$R^2 = 1 - \frac{e'e}{Y'Y} = 1 - \frac{1.5}{28} = 0.9464 \quad .5$$

$$e = Y - Xb = Y - X \cdot (X'X)^{-1} X'Y = (I - X(X'X)^{-1} X')Y \quad .1$$

$$M = I - X(X'X)^{-1} X' \quad .1$$

$$M \cdot M = M \quad .2$$

$$M' = M \quad .3$$

$$e'e = (MY)'MY = Y'M'MY = Y' \underset{I}{M} Y \geq 0 \quad .4$$

$$MX = (I - X(X'X)^{-1} X')X = X - \cancel{X(X'X)^{-1} X'X} = 0 \quad .5$$

$$M = \begin{pmatrix} 0.8 & -0.2 & 0.2 & -0.2 & -0.2 \\ -0.2 & 0.3 & 0.3 & -0.2 & -0.2 \\ -0.2 & 0.3 & 0.3 & -0.2 & -0.2 \\ -0.2 & -0.2 & -0.2 & 0.3 & 0.3 \\ -0.2 & -0.2 & -0.2 & 0.3 & 0.3 \end{pmatrix} \quad .6$$

$$\text{trace}(M) = 0.8 + 0.3 + 0.3 + 0.3 + 0.3 = 2 \quad .7$$

$$\text{trace}(M) = n - k$$

$$1. e'e = Y'Y - b'X'Y$$

2. $\sum_{i=1}^n e_i^2$

$$e'e = (Y - Xb)'(Y - Xb) = (Y' - b'X')(Y - Xb)$$

$$= Y'Y - Y'Xb - b'X'Y + b'X'Xb$$

$$= Y'Y - b'X'Y + \underbrace{(b'X'Xb - Y'Xb)}$$

$b = (X'X)^{-1}X'Y$ (2.3)
 סכום הריבועים הנותרים

$$2. e'e = Y'Y - b'X'Y$$

$$e'e = (Y - Xb)'(Y - Xb) = Y'Y - Y'Xb - b'X'Y + b'X'Xb$$

$$= Y'Y - b'X'Y + \underbrace{(b'X'Xb - Y'Xb)}$$

$b = (X'X)^{-1}X'Y$ (2.3)
 סכום הריבועים הנותרים

$$3. R^2 = \frac{b'X'Y - n\bar{Y}^2}{Y'Y}$$

$$R^2 = 1 - \frac{e'e}{Y'Y} = \frac{Y'Y - e'e}{Y'Y} = \frac{Y'Y - n\bar{Y}^2 - (Y'Y - b'X'Y)}{Y'Y} = \frac{b'X'Y - n\bar{Y}^2}{Y'Y}$$

$$4. R^2 = \frac{b'X'Y}{Y'Y}$$

$$R^2 = 1 - \frac{e'e}{Y'Y} = \frac{Y'Y - e'e}{Y'Y} = \frac{Y'Y - (Y'Y - b'X'Y)}{Y'Y} = \frac{b'X'Y}{Y'Y}$$

$$5. e'e = u'Mu$$

$$e = Y - Xb = (X\beta + u) - X \cdot (X'X)^{-1}X'(X\beta + u) =$$

$$= \cancel{X\beta + u} - \cancel{X(X'X)^{-1}X'X\beta} - X(X'X)^{-1}X'u = [I - X(X'X)^{-1}X']u = Mu$$

$$e'e = (Mu)'Mu = u'M'u = u'Mu$$